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QUANTITATIVE METHODS

Paper–II

Semester–VI

Time Allowed : 3 Hours] [Maximum Marks : 75

Note : The candidates are required to attempt two

questions each from Sections A and B carrying

12 marks each and the entire Section C

consisting of 9 short answer type questions

carrying 3 marks each.

SECTION—A

1. (a) Find out Standard deviation. Give : 8

Size of Farm No. of Farms

0–10 13

10–50 9

50–100 8

100–200 7

200–300 5

300–400 5

400–500 3

(b) Find the inverse of the matrix :

0 1 2

A 1 2 3 .

3 1 1

 
 =  
  

4

2. (a) From the following data find out the missing

frequency. Given median is 90 : 8

X F

0–25 4

25–50 8

50–75 ?

75–100 15

100–125 10

125–150 7

150–175 5
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(b) Investigate the following function for extreme

values y = x5 – 5x4 + 5x3 – 1. 4

3. (a) Calculate the quartile deviation for wages :  8

Wages (Rs.) Labourers

30–32 12

32–34 18

34–36 16

36–38 14

38–40 12

40–42 8

42–44 6

(b) If 
1 2 3

A ,
4 2 5

− 
=  − 

 

2 3

B 4 5 .

2 1

 
 =  
  

 Show that

AB BA.≠ 4

4. (a) Find out coefficient of skewness from the

following data : 8

Size 5–7 8–10 11–13 14–16 17–19

No. of

Persons 14 24 38 20 4

(b) Find 
dy

dx
 when y = loga (4x + 8). 4

SECTION—B

5. (a) Find out the coefficient of Correlation between

X and Y using Karl Pearson’s method : 8

X : 5 10 15 20 25 30 35

Y : 2 4 7 9 8 10 9

(b) Give the difference between Correlation and

Regression. 4

6. (a) Find out Regression line of Y on X and X on

Y from the following data, also find Y when

X = 17 : 8

   X Y

10 15

10 22

18 21

25 25

28 36
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33 27

34 33

39 40

42 41

43 47

(b) What is Correlation ? What are its types ?   4

7. (a) For the following data calculate Pasche’s Price

index, show that it does not satisfy time

reversal test and factor reversal test. Base year

is 1980. 8

          1980            1985

Commodity Price Quantity Price Quantity

I 3 7 4 5

II 4 12 6 8

III 6 10 5 15

IV 3 15 2 18

(b) What is meant by analysis of time series ?

Give utility of analysis of time series. 4

8. (a) To the following data fit a linear trend by least

square method : 8

Year : 1975 76 77 78 79 80 81

Production

(Tonnes) : 20 25 28 30 32 35 40

(b) What do you understand by Index number ?

Discuss their uses. 4

SECTION—C

9. Attempt all the following questions : 9×3=27

(i) What are the merits of Mean ?

(ii) Find 
dy

dx
 if y = (x – 1) (2x – 1).

(iii) Define upper triangular matrix with an

example.

(iv) Find out 2A – 3B. Given 
2 5

A
3 2

 
=  
 

 and

1 4
B .

2 0.5

− 
=  − 
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(v) Find out range and its coefficient:

x : 8 18 22 25 29 37 48

f : 1 5 10 4 12 6 1

(vi) What are the Merits of Standard deviation ?

(vii) Define Row matrix and Column matrix with

example.

(viii) What do you mean by Finite and Infinite

set ?

(ix) Define Maxima and Minima of a function.

PUNJABI VERSION

not :not :not :not :not : Bwg A Aqy B hryk ivcoN do-dodo-dodo-dodo-dodo-do pRSn kro Aqy hryk

pRSn dy 12 AMk hn[ Bwg C swrw kro[ ies ivc

9 sMKyp au~qr vwly pRSn lwjmI hn Aqy hryk

pRSn dy 3 AMk hn[

BwgBwgBwgBwgBwg—A

1. (a) hyT ilKy qoN pirmwp ivcln dw pqw kro:    8

Pwrm dw Awkwr PwrmW dI igxqI

0–10 13

10–50 9

50–100 8

100–200 7

200–300 5

300–400 5

400–500 3
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(b) mYtirks dw ienvrs pqw kro:

0 1 2

A 1 2 3 .

3 1 1

 
 =  
  

4

2. (a) hyT ilKy AMkiVAW qoN lupq vwrvwrqw l`Bo id`qw

mwiDAk 90 hY[ 8

X F

0–25 4

25–50 8

50–75 ?

75–100 15

100–125 10

125–150 7

150–175 5

(b) AiDk mu`l (Extreme values) leI hyT ilKy

PMkSn dI jWc-pVqwl kro:

y = x5 – 5x4 + 5x3 – 1. 4

3. (a) vyqn leI cqurQk ivcln dw ihswb lwau:   8

vyqr (rupey) mjdUr

30–32 12

32–34 18

34–36 16

36–38 14

38–40 12

40–42 8

42–44 6

(b) jy 
1 2 3

A ,
4 2 5

− 
=  − 

 

2 3

B 4 5

2 1

 
 =  
  

 idKwau ik

AB BA.≠ 4

4. (a) hyT ilKy AMkiVAW qoN ifrfypn dw guxWk pqw
kro: 8

Awkwr 5–7 8–10 11–13 14–16 17–19

ivAkiqAW
dI gxqI 14 24 38 20 4
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(b) pqw kro 
dy

dx
 jdoN y = loga (4x + 8). 4

BwgBwgBwgBwgBwg—B

5. (a) kwrl pIArsn dI ivDI vrq ky x Aqy y iv`c
sih-sMbMD dw guxWk pqw kro: 8

X : 5 10 15 20 25 30 35

Y : 2 4 7 9 8 10 9

(b) sih-sMbMD Aqy prwvrqn iv`c AMqr dso[ 4

6. (a) hyT ilKy AMkiVAW qoN Y on Aqy X on Y dI
prwvrqn ryKw lBo Aqy pqw kro Y jdoN X = 17.

   X Y

10 15

10 22

18 21

25 25

28 36

33 27

34 33

39 40

42 41

43 47

(b) sih-sMbMD kI hY? ies dIAW iksmW ikhVIAW
hn? 4

7. (a) hyT ilKy AMkiVAW leI pYsy (Pasche) dy kImq
sUck dw ihswb lwau[ idKwau ik ieh tweIm
irvrSl tYst Aqy PYktr irvrsl tYst nUM
nhIN mMn dw 1 AwDwr swl 1980 hY: 8

          1980            1985

vsqU kImq mwqrw kImq mwqrw

I 3 7 4 5

II 4 12 6 8

III 6 10 5 15

IV 3 15 2 18

(b) tweIm sIrIz dy ivSlySx qoN kI Bwv hY? tweIm
sIrIz dy ivSlySx dI aupXogqw d`so[ 4
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8. (a) hyT ilKy AMkiVAW qoN Gto Gt vrg ivDI

duAwrw iek ryKwb`D ruJwx iPt kro: 8

swl : 1975 76 77 78 79 80 81

aupj (tn) : 20 25 28 30 32 35 40

(b) sUck inSwn nMbrW qoN qusI kI smJdy ho? auhnW

dy PwieidAW dI crcw kro[ 4

BwgBwgBwgBwgBwg—C

9. hyT ilKy swry pRSn kro : 9×3=27

(i) AOsq dy kI Pwiedy hn?

(ii) pqw kro dy

dx
 jy y = (x – 1) (2x – 1).

(iii) auprly iqkony mYtirks dI iek audwhrx
sihq pRIBwSw idau[

(iv) pqw kro 2A – 3B idqw hY 2 5
A

3 2

 
=  
 

 Aqy

1 4
B .

2 0.5

− 
=  − 

(v) dwierw (Range) Aqy ies dy guxWk dw pqw
kro:

x : 8 18 22 25 29 37 48

f : 1 5 10 4 12 6 1

(vi) pirmwp ivcln dy kI Pwiedy hn?

(vii) kqwr mYtirks Aqy kwlm mYtirks dI audwhrx
sihq pRIBwSw idau[

(viii) sImq Aqy AsImq sYt qoN quhwfw kI Bwv hY?

(ix) iek PMkSn dy AiDkqm (Maxima) Aqy
inaUnqm (Minima) PMkSn dI pRIBwSw idau[
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